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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 221 2.5 0.6 3 82.5 94.4
2 234 1.6 1.2 3 54.7 100
3 234 2.9 1.4 6 47.5 100
4 234 6.3 2.1 9 70.3 100
5 234 4.9 2 9 54.2 100
6 234 11.2 2.6 15 74.6 100
7 234 10.1 2.6 15 67.6 100
8 234 9.9 3.3 20 49.4 100
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question Answer Mark AO1 AO3 


6. (b) (ii) Award up to 2 marks for each detailed description. 
 
Likely answers may include: 
 
Park his car further from the office/walk part of the way to work.  
Exercise with a friend for company and support. 
 
(Accept any other reasonable answer.) 


4 2 2 


 












Sticky Note

6 (b) (ii) - 4 marks

This offers a sound first way in which Keith could start exercising, and the candidate develops this by saying that Keith could do various forms of physical activity to burn energy and calories in the gym or fitness group.

The response offers bot a second and third way in which Keith could start exercising, (although only one further way is required).  Both options offer further development by stating that these will allow Keith to walk further and therefore do more exercise; hence, this response gained the full 4 marks.
















Sticky Note

6 (b) (ii) - This answer presents two clear ways in which Keith could start exercising.  There is enough detail for both ways to gain 2 marks each, equalling 4 marks in total.
















Sticky Note

6 (b) (ii) - 4 marks

Here the candidate has given three ways in which Keith could start exercising (when only two ways are required):  parking his car further away, cycling or running to work, standing at his desk.  Candidates need to read the question requirement carefully - while this response gained 4 marks, as there was enough detail, sometimes giving more than two ways can result in each being too brief to merit the full 4 marks.
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SECTION B (50 marks)


Answer all questions from this section.


6.	 In Keith’s first year at his office job he gained 6kg (one stone) in weight and this has continued 
every year for the past six years.


	 He has a high BMI and is classified as obese.
	 He finds that he is snacking on chocolate, cakes and crisps throughout the day whilst sitting at 


his computer.
	 He parks his car close to the office and he doesn’t exercise because he is too embarrassed.
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	 (ii)	 Describe two ways in which Keith could start exercising.	 [4]
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Question Answer Mark AO1 AO3 


8. (b)  0-2 marks:  Answers that identify why the NHS and social care 
services spend so much on smokers, with little or no discussion.  
May be just a list.  Little or no use of specialist vocabulary. 
 
3-4 marks:  Answers that give some discussion of why the NHS 
and social services spend so much on smokers.  Answers 
convey meaning, with some use of specialist vocabulary. 
 
5-6 marks:  Answers that discuss, with clear evidence of 
understanding, why the NHS and social care services spend so 
much on smokers.  Answers are well-structured and clearly 
expressed.  Specialist terms used with ease and accuracy. 
 
Likely answers may include: 
 
Everything will cost money: 
 
• Treating diseases – smokers with chronic diseases caused 


by smoking will need to have GP and specialist 
consultations, prescriptions and hospital admissions.  They 
may need an operation with after-care or special equipment 
such as oxygen. 
 


• Smokers will need social care and domiciliary care at an 
early age and will be more dependent on care as they get 
older.  Breathlessness, cancer and heart disease will mean 
they are unable to shop, clean, move around, wash and 
dress so will need looking after. 


 
• The NHS supports individuals to help them stop smoking. 


 
• The NHS has a variety of campaigns to make individuals 


aware of the health issues of smoking and to encourage 
them to stop smoking. 


6 3 3 


 












Sticky Note

Q8 (b) - 5 marks

Consideration is needed of both NHS and social care services.  Many candidates did not offer both aspects.  This candidate offers both in this extended response.
















Sticky Note

Q8 (b) - 2 marks

This is a limited response, and did not get beyond the bottom mark band.  It focuses only on reducing death rates and the NHS, and not on social care services.  No  consideration has been given to health benefits and the savings that reducing the number of smokers would have in terms of long-term financial benefits.  












Sticky Note

Q8 (b) - 4 marks

Consideration of both NHS and social care services is given, the weaker part of the response relating to social care services which could have been developed further.  Earlier treatment saving money is relevant, with a clear example of the development of chronic disease.  No discussion was not apparent.
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8.	 More than half the individuals who smoke will be killed by their smoking habit.
	 Frank is 50 years old. He had to retire early because he had a chronic disease caused by  


smoking since he was a teenager.


	  
	


	 (b)	 Treatment of smokers costs the NHS £12 billion a year in England alone.
		  Discuss why the NHS and social care services spend so much on those who smoke 


cigarettes.	 [6]
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Question Answer Mark AO1 AO3 


8. (c)  0-3 marks:  Answers that identify the differences between the 
images, with little or no evaluation to support having plain 
packaging for cigarettes.  May just be a list.  Little or no use of 
specialist vocabulary. 
 
4-6 marks:  Answers which describe the images, with some 
evidence of evaluation to support having plain packaging for 
cigarettes.  Answers convey meaning, with some use of 
specialist vocabulary. 
 
7-8 marks:  Answers that evaluate the images to support 
having plain packaging for cigarettes, with clear evidence of 
understanding.  Answers are well-structured and clearly 
expressed.  Specialist terms used with ease and accuracy. 
 
Likely answers may include: 
 
Issues relating to:  de-sensitisation, addiction, habit, peer 
pressure, etc. 
 
Image 1: 
Has branding and a logo so is more appealing than images 2 or 
3. 
 
Image 2: 
Has graphic, colourful images and a health warning which could 
be effective at delivering the harmful message.  However, 
individuals may look at the images close-up but may still try the 
cigarettes because the pack is in their hand. 
 
Image 3: 
Is plain and has a message; it is not appealing or attractive.  
The message is very clear and stands out. 
 
The goals of plain packaging: 
 
• to make cigarette packaging less attractive to consumers 


• to draw attention to health warnings 


• to reduce the ability of tobacco companies to use retail 
packaging to 'mislead' consumers about the harmful health 
effects of smoking  


• to increase noticeability, recall and impact of health warnings 


• to reduce the ability of misleading consumers into thinking 
that some cigarettes are less harmful than others 


• to reduce attractiveness to both adults and children 


• to reduce appeal and desirability 


8 4 4 


 












Sticky Note

Q8 (c) - 7 marks

This is a response which met the requirements of the top band.  It offers a clear and systematic evaluation of each of the packages, and there is clear support for plain packaging.




















Sticky Note

Q8 (c) - 3 marks

The question asks the candidate to evaluate the images of cigarette packages in support of plain packaging.  In this response, the candidate considers all the packaging but does not present an evaluation in support of plain packaging.  This limited the marks to a maximum of the top of the bottom band.




















Sticky Note

Q8 (c) - 5 marks

The candidate attempts to consider the support for plain packaging, although because this was not developed further, it limited the mark to the middle band.  The point made near the end of the response showed a lack of focus on the question.
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8.	 More than half the individuals who smoke will be killed by their smoking habit.
	 Frank is 50 years old. He had to retire early because he had a chronic disease caused by  


smoking since he was a teenager.
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(c)	 Evaluate the images above to support having plain packaging for cigarettes.	 [8]


Image 1 Image 2


Image 3


Smoking 
Kills


Brand
variant


Advertising and message
Colour, message and image


Plain, no advertising and message


Smoking 
seriously harms 
you and others 


around you
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END OF PAPER











